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FFis —%= 12000
X —= 12000
SHAETR, —% 12000
BERERI —% 12000
BN —% 12000
KiE —% 12000
ZhE —% 12000
KE —% 12000
I=1Es —% 12000
FFRN —% 12000
KIIE —% 12000
IREH —= 12000
PER —& 12000
ETS5ES —& 12000
PRGET —= 12000
PRIz —= 18000
BRI —% 18000
2.4 AN —% 18000
Rz -3 8000
FRELHE 3 8000
wre 3 8000
A 3 8000
¥ % 8000
KEH -3 8000
&% % 8000
I 3 8000
SREH % 8000
PR % 8000
Bz % 8000
EB3Zi%F 3 8000
HIEX 3 8000
=3 % 8000
S % 8000
Gy % 8000
BRtE= % 8000
Bt % 8000
= =% 8000
X % 8000
RE % 8000
SRS 3 8000
BER % 8000
MES -3 12000
=ER % 12000
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